
 

TrigonometricSubstitution
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Forexample ifwehavea bx of bx weusethesubstitutionby asintandbdx acostdo
Wealsohavetherighttrianglebysint Ffp bx

The
missing

sidesoftherighttrianglescanbefoundusingthePythagoreanTheorem hyp opp adj

T.iq E gcostnqT
EI E.tn



Howdoweusetrigsubstitnt.in
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Is Ipx dx forconstants ab 0
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ExampleswithEvaluation DefiniteIntegrals
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Method2Convert valuesto0 valuesfirstandevaluatetheantiderivativeintermsof
1 V97ax Ed1 3costBoostdo If9b 1 cos120 do Isin20

TngSub p 0 93 O aresin1 I

9x2 9asino 958,9991 58
arsinx isrestrictedtoE I

sifi.IE Effing 9 i


